
8567 8567.5 8568 8568.5 8569
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum
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0

0.5

1

1.5

de
lta
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_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7281
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7282

7282.5

7283
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7284

7284.5

7285

ru
n

run:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

0

0.5

1
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2
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3

se
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t

segment:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

105.5−

105−

104.5−

104−

103.5−us
l_

1X

usl_1X:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

5

5.5

6

6.5

7

us
l_

4a
Y

usl_4aY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

42

42.5

43

43.5

44

us
l_

4e
X

usl_4eX:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

14

14.5

15

15.5

16

us
l_

4e
Y

usl_4eY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

us
l_

12
X

usl_12X:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7281

7281.5

7282

7282.5

7283

7283.5

7284

7284.5

7285

ru
n

run:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

137.5−

137−

136.5−

136−

135.5−

us
r_

1X

usr_1X:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7

7.5

8

8.5

9

us
r_

4a
Y

usr_4aY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

195.2

195.4

195.6

195.8

196

196.2

196.4

196.6

196.8

197

197.2

197.4

us
r_

4e
X

usr_4eX:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

8.2

8.4

8.6

8.8

9

9.2

9.4

9.6

9.8

10

10.2

10.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_
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X

usr_12X:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7281

7281.5

7282

7282.5

7283

7283.5

7284

7284.5

7285

ru
n

run:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

32624.6

32624.8

32625

32625.2

32625.4

32625.6

32625.8

32626

32626.2

32626.4

32626.6

32626.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

6687.6

6687.8

6688

6688.2

6688.4

6688.6

6688.8

6689

6689.2

6689.4

6689.6

6689.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

3968.5

3969

3969.5

3970

3970.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

689.5−

689−

688.5−

688−

687.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

14953

14953.5

14954

14954.5

14955

us
l_

co
il7

usl_coil7:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7281

7281.5

7282

7282.5

7283

7283.5

7284

7284.5

7285

ru
n

run:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

27962−

27961.5−

27961−

27960.5−

27960−us
r_

co
il1

usr_coil1:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

5431.8−

5431.6−

5431.4−

5431.2−

5431−

5430.8−

5430.6−

5430.4−

5430.2−

5430−

5429.8−

5429.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

3911.6

3911.8

3912

3912.2

3912.4

3912.6

3912.8

3913

3913.2

3913.4

3913.6

3913.8

us
r_

co
il4

usr_coil4:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

873.5−

873−

872.5−

872−

871.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

18688.6

18688.8

18689

18689.2

18689.4

18689.6

18689.8

18690

18690.2

18690.4

18690.6

18690.8

us
r_

co
il7

usr_coil7:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

7281

7281.5

7282

7282.5

7283

7283.5

7284

7284.5

7285

ru
n

run:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

421−

420.5−

420−

419.5−

419−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

30.6

30.8

31

31.2

31.4

31.6

31.8

32

32.2

32.4

32.6

32.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

483−

482.5−

482−

481.5−

481−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

94.4−

94.2−

94−

93.8−

93.6−

93.4−

93.2−

93−

92.8−

92.6−

92.4−

92.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

31.5
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4e
X

_c
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l7

4eX_coil7:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

169.5

170

170.5

171

171.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

43.2

43.4
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43.8

44

44.2

44.4

44.6

44.8

45

45.2

45.4

4a
Y
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l6

4aY_coil6:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

8−

7.5−

7−

6.5−

6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

180.6

180.8

181

181.2

181.4
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181.8

182

182.2

182.4

182.6

182.8

4e
Y
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l4

4eY_coil4:cyclenum {run == 7283}
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cyclenum

22.5−

22−
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21−

20.5−

4e
Y
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4eY_coil6:cyclenum {run == 7283}
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cyclenum

6.5−

6−

5.5−

5−
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4e
Y
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4eY_coil7:cyclenum {run == 7283}



8567 8567.5 8568 8568.5 8569
cyclenum

245−

244.5−

244−

243.5−

243−

12
X

_c
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l1

12X_coil1:cyclenum {run == 7283}
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cyclenum

88.5−

88−

87.5−

87−

86.5−12
X

_c
oi
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12X_coil3:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

2.5−

2−

1.5−

1−
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X

_c
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12X_coil4:cyclenum {run == 7283}

8567 8567.5 8568 8568.5 8569
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7283}
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cyclenum
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12
X

_c
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l7

12X_coil7:cyclenum {run == 7283}
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7284.5
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n

run:cyclenum {run == 7283}
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